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; 100kN/MZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 4.74 59.10 | =hst | 0oo ~ 0.00| 1.66 841 ZznLst 1.00 | 5.00 ~ 5.00 59.10 | =nLst | 5,00 ~ 5.00) 1.66 8.41
2 100kN/mMZ#8 % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 5.48 68.38 | =LY | 000 ~ 000|175 8.84 ZznLst 1.00 | 5.00 ~ 6.00 68.38 | #nLS | .00 ~ 6.00|1.75 8.84
3 100kN/MZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 4.81 59.93 | =hst | 0oo ~ 0.00| 1.66 8.39 ZznLst 1.00 | 5.00 ~ 56.10 59.93 | =nLS | 5,00 ~ 510 1.66 8.39
4 100kN/mMZ#8 % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 5.62 70.25 | FnLSY | 000 ~ 0.00)| 1.64 8.27 ZznLst 1.00 | 5.00 ~ 6.40 70.25 | EnRS | 600 ~ 640 | 1.64 827
5 100kN/mMZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 5.16 64.29 | TN | 000 ~ 516 1.81 914 ZznLst 1.00 | 5.00 ~ 5.60 64.29 | #hS | 6,00 ~ 5.60 | 1.81 914
¢ 100kN/mMZ#8 % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 4.13 51.68 | =hst | ooo ~ 413|216 10.91 ZznLst 1.00 | 5.00 ~ 56.70 51.68 | =nLs | 5,00 ~ 570|216 10.91
. 100kN/MZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 4.11 51.47 | #hst | 000 ~ 411|204 10.33 ZznLst 1.00 | 5.00 ~ 5.00 51.47 | =N | 5,00 ~ 500|204 10.33
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Zh LS ~ Zh s ~ ZhLS ~ Zh st ~
100kN/mMZ#B % % ~ 3ImEHEZD ~ 100kN/mMZ#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh st ~
100kN/mMZ#B % % ~ 3ImEHEZD ~ 100kN/mMZ#BZ % ~ ImERZD ~
ZThLS ~ Zh s ~ ZhLS ~ Zh st ~
100kN/mMZ#8 % % ~ 3ImEHEZD ~ 100kN/mZ#8 %% ~ 3ImERZD ~
Zh LS ~ Zh s ~ ZhLS ~ Zh Lot ~
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zhnList ~ zhn s ~ zhnLst ~ Zzh st ~
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